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1 

ورقة عمل 

الرياضيات 

؟ السؤال الأول:
ً
ل كل نسبتين مما يلي تناسبا

ّ
هل تمث

① 
2

5
 ,

6

15
② 

4

7
 ,

12

20

 من التناسبات الآتية :السؤال الثاني
ً
:أحلّ كلا

① 
3

5
=

𝑥

35
② 

𝑥

12
=

3

4

③ 
7

10
=

35

𝑥
④ 

9

𝑥
=

45

55

⑤ 
𝑥

20
=

1

40
⑥ 

2.5

5
=

1

𝑥



2 

ورقة عمل 

الرياضيات 

؟ السؤال الأول:
ً
ل كل نسبتين مما يلي تناسبا

ّ
هل تمث

① 
2

5
 ,

6

15
ل الوحدة

ّ
 معد

2 ÷ 5

5 ÷ 5
 , 

6 ÷ 15

15 ÷ 15
0.4

1
=

0.4

1
.
ً
ل تناسبا

ّ
تشك

② 
4

7
 ,

12

20
تبسيط النسبتين

12 ÷ 2

20 ÷ 2
=

6 ÷ 2

10 ÷ 2
=

3

5
4

7
≠

3

5

 من  :السؤال الثاني
ً
:التناسبات الآتيةأحلّ كلا

① 
3

5
=

𝑥

35
3 × 35

5
=

𝑥 × 5

5
3 × 7 = 𝑥 

21 = 𝑥

② 
𝑥

12
=

3

4
𝑥 × 4

4
=

3 × 12

4
𝑥 = 3 × 3 

𝑥 = 9

③ 
7

10
=

35

𝑥
7 × 𝑥

7
=

35 × 10

7
𝑥 = 5 × 10 

𝑥 = 50

④ 
9

𝑥
=

45

55
9 × 55

45
=

45 × 𝑥

45
55

5
= 𝑥 

11 = 𝑥

⑤ 
𝑥

20
=

1

40
𝑥 × 40

40
=

1 × 20

40

𝑥 =
2 ÷ 2

4 ÷ 2
⇒ 𝑥 =

1

2

⑥ 
2.5

5
=

1

𝑥
2.5 × 𝑥

2.5
=

1 × 5

2.5
𝑥 = 2






